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6. Marbles of a common mass m approach a hard wall each with

speed v along the +y-direction, as shown in the sketch, and bounce

elastically from it.

A. (3 pts) What is the momentum change of each marble?

**(a) Apy = -2mv, ilpx = 0 = Apzo

(b) Apy = 2mv, Apx = 0 = L\pz.
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( c ) /).py = -mv, /).Px = 0 = /).Pz.

(d) not enough information to tell.

B. (4 pts) What is the impulse outhe wall? "11 ., .tA.J
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(a) t:J.py = -2mv, A/);" =0 =.Ofl-

(c) ~py = -mv, 6p,c = 0 = ~Pz.

(d) not enough information to ft)1

random fashion. Their density in space as ill: )' &f"fO~ch tk '*'1 is "- (l.t. 1\ is tLe

number of particles per unit vor",t11e)" What is thc avcragc fOfCC t;Ci Lill:t ,1]"ca onthc \\;;

as a result of the collisions? [Hiilf: Think of the number of mol~cu;(;s tll;lt will hit th\.C '.vall

in a time interval L\t.]

(a) nmv.

(b).O.

**(c) nm(v2).

(d) not enough infonnation to tell.
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